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(Write your Roll No. on the top immediately on receipt of this question paper.)
. Note — Answers may be written either in English or in Hindi;
“but the same medium should be used throughout the -
paper.
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Question No.l is compulsory.
Attempt any four questions out of Question Nos. 2t 7.
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Answer any five parts : o learndu.in

()  What is the difference between a positive statement and

a normative statement ? Explain using examples.

(i) Does reduction in the price of a good increases consumer
surplus ? Explain why or why not

(iiiy  Why are indifference curves bowed inward ?

(iv) What is natural monopoly ? Explain with the help of
an example.

(v)  Explain why the average and marginal revenue curves
are horizontal for a firm in the perfectly competitive

market ?

(vi) What is the difference between the purchase price and

the rental price of a factor ?
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Suppose Q° = 2P and Q7 = 300 — P (Q° is quantity

supplied, Q7 is quantity demanded and P is the price

in Rupees of the commodity). Then :

(¢) Find equilibrium price and quantity.

(b) If a tax of Rs. 30 per unit is imposed on buyer,
find the price paid by buyer, price received by
seller and the quantity sold.

(¢) Calculate deadweight loss. 24342

Why is the production posr;ihility curve bowed m;mard ?

[llustrate using diagram. If a new invention increases

the productivity of one good while the productivity of

another good remains unchanged. Explain the changes

in the production possibility curve. 3+5
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Calculate cross price elasticity between wheat and rice

UsiNg  midpoint method from the following

information - :
Time Period v 4
Price of wheat (in Rs. per kg) 20 -

Quantity of rice (in kg.)
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If the government implements an effective rent control

in a city, what will be its economic implications in short

run and the long run ? Explain using suitable

diagrams, 6
How does the taxation lead to deadweight loss ? What

are the determinants of deadweight loss ? 3+2
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If Anu’s marginal rate of substitution of X for Y is 5
(A Y/ A X =5) and per unit price of X is Rs. 9 and

of Y is Rs. 2. Is she optimizing her consumption ? If
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yes, then explain how, if not, then what change in
consumption bundle do you suggest for her to maximize

her satisfaction ? 6

Explain income effect and substitution effect ? If Shyam

divides his income between consumption and saving,

what will be the impact of increase in rate of interest

on his savings ? Explain with the help of incnm‘e and

substitution effects. 6

Why two indifference curves cannot intersect each other ?

Explain using diagram. 3
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likely to be different 2 mr. Harry decides to open his

restaurant. For this he has to leave his job. where he

is eaming Rs. 60,000 per year. The other yearly expenses
are Rs. 40,000 on rent, Rs. 70,000 on raw material and
Rs. 50,000 on salary. Find Mr. Harry’s economic cost

and accounting cost for opening the restaurant. 5

Explain and show the relationship between short run
marginal cost and average variable cost curves. Can
marginal cost increase when the average variable cost

is declining 2 Why or why not ? 5

Explain using diagram why a perfectly competitive firm,

incurring loss on fixed cost, will continue to produce

in short run. 5
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6. () Derive the upward sloping long run supply curve
of a perfectly competitive market. Why might it
be upward sloping ? 4+2

(i) What are the sources of monopoly ? Explain and

show the deadweight loss created by a monopoly
firm when it is chérging uniform price from all the
* consumers. How will the deadweight loss change
if the firm starts practicing perfect price

discrimination ? Explain using diagrams. 2+413
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Consider a mﬁrket in which thé_ demand and supply
funcfiuns are :
=100 - 0.2 Q% P = 40 + 0.1 QS respectively, whi:*re
P is price, QY is quantity demanded and the Q° is

quantity supplied.

Deten*ni-nc the price elasticity of supply at equilibrium

price. 5

Derive the demand curve for labour when there is perfect

competition in commodity and factor markets. 5
Explain how the increase in supply of capital will change
5

the eqﬁilibrium earning of other factor labour.

P.T.O.
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